

مناقصة عامة
SUP84-2025-104

الشركات المشاركة:-
شركة Pharmall مكتب الطوق

National Code (a)	Seller Code (b)	Brief Description of Goods		Quantity Offered & Physical Unit	Country of Origin	Price per physical unit (Bidder may permissible Currency)					Total Price on DDP/Free Delivery at End-user, site.(US Dollar) 3x5(d)
		Product (a)	Unit Pack Size (b)			CIP price per unit	CIP price per pack (Bidder may insert place of destination) (a)	DDP at End-user, site (b)	Incidental services as defined in schedule of Requirement (c)	DDP at End-user, site & Incidental Series (d) =((b)+(c))	
ORT-DE22-265	SUUCP1027	Kimadia's Description: dressing cotton bandage 4-inch. Pharmall Offer: SUGAMA Under Cast Padding for POP, cotton bandage, Size: 4 Inches x 2.7m	Pcs	517635	China	USD 0,52	USD 0,52	N/A	FOC	USD 0,52	USD 269.170,20
ORT-DE22-266	SUUCP1527	Kimadia's Description: dressing cotton bandage 6-inch. Pharmall Offer: SUGAMA Under Cast Padding for POP, cotton bandage, Size: 6 Inches x 2.7m	Pcs	731328	China	USD 0,74	USD 0,74	N/A	FOC	USD 0,74	USD 541.182,72
ORT-DE22-267	SUUCP2027	Kimadia's Description: dressing cotton bandage 8-inch. Pharmall Offer: SUGAMA Under Cast Padding for POP, cotton bandage, Size: 8 Inches x 2.7m	Pcs	494040	China	USD 0,79	USD 0,79	N/A	FOC	USD 0,79	USD 390.291,60

Grand Total Bid price: USD 1.200.644,52 - US Dollars One Million Two Hundred Thousand Six Hundred Forty-Four and Fifty-Two Cents Only.

Delivery Period: 3 MONTHS AFTER RECEIVING THE L/C as per INCOTERMS® current edition – CIP.

٢- شركة زلفا مكتب الرحالة العلمي

جدول الاسعار المستلزما الطبيه التي سيتم استيرادها من خارج العراق

الرمز الوطني	رمز رقم البائع	اسم المادة	وصف موجز المستلزما الطبية		الكمية المقدمة بالقطعة	المنشأ	سعر الوحدة بالدولار الامريكى				السعر الاجمالي DDP الى مكان المستخدم النهائي مع الخدمات الثانوية
			المنتج	حجم وحدة التعبئة المصنع			السعر CIP ميناء ام قصر للقطعة	مستودعات DDP وزارة الصحة	الخدمات الثانوية	الى مكان المستخدم النهائي مع الخدمات الثانوية	
ORT-DE22-268	BK006	Triangular bandages	size:90cm x 90cm x127cm /hemmed on all sides /2pcs safety pin	1pc/bag 600pcs/ct	126,813	الصين	\$ 1.28	\$ 1.32	\$ -	\$ 1.32	\$ 167,393.16
ORT-DE22-273	BK007	High Elastic Bandage	5CM*4.5M	1ROLL/PE BAG 720 ROLLS/CTN	151,078	الصين	\$ 0.73	\$ 0.75	\$ -	\$ 0.75	\$ 113,308.50
ORT-DE22-274	BK008		7.5CM*4.5M	1ROLL/PE BAG 480 ROLLS/CTN	169,683	الصين	\$ 1.09	\$ 1.12	\$ -	\$ 1.12	\$ 190,044.96
ORT-DE22-275	BK009		10CM*4.5M	1ROLL/PE BAG 360 ROLLS/CTN	245,278	الصين	\$ 1.46	\$ 1.50	\$ -	\$ 1.50	\$ 367,917.00
ORT-DE22-276	BK010		15CM*4.5M	1ROLL/PE BAG 240 ROLLS/CTN	241,827	الصين	\$ 2.17	\$ 2.24	\$ -	\$ 2.24	\$ 541,692.48
ORT-DE22-277	BK011		20CM*4.5M	1ROLL/PE BAG 180 ROLLS/CTN	195,353	الصين	\$ 2.17	\$ 2.24	\$ -	\$ 2.24	\$ 437,590.72

٣-شركة بوابة العراق

National code (a)	Seller code (b)	Brief Description of Goods		Quantity Offered & physical unit	Country of origin	Price per physical unit (Bidder may permissible Currency)				Total Price on CIP/Free Delivery at End-user, site.(Iraqi Dinar) 3x5(d)
		Product (a)	size			CIP	CIP at End-user, site (b)	Incidental services as define	CIP at End-user, site	
ORT-DE22-257	JD11O13	Splint- Finger Aluminium and protective Foam strip, 1 cm x 23 cm	pcs	6529	China				0.75	4,896
ORT-DE22-258	JD11O13	Splint- Finger Aluminium and protective Foam strip, 1 cm x 46 cm	pcs	5919	China				0.75	4,439
ORT-DE22-259	JD11O13	Splint- Finger Aluminium and protective Foam strip, 2 cm x 46 cm	pcs	5682	China				0.75	4,261
ORT-DE22-260	JD11O13	Splint- Finger Aluminium and protective Foam strip, 2.5 cm x 46 cm	pcs	5537	China				0.75	4,152
ORT-DE22-261	JD11O13	Splint- Finger Aluminium and protective Foam strip, 5 cm x 46 cm	pcs	5127	China				0.75	3,845
ORT-DE22-262	JD11O13	Splint- Finger Aluminium and protective Foam strip, 8 cm x 46 cm	pcs	4642	China				0.75	3,481
ORT-DE22-263	JD11O13	Splint- Finger Aluminium and protective Foam strip, 10 cm x 46 cm	pcs	4717	China				0.75	3,537
ORT-DE22-264	JD01B02	dressing cotton bandage 2 inch width (minimal or no compression)	pcs	122444	China				0.13	15,917
ORT-DE22-265	JD01B02	dressing cotton bandage 4 inch	pcs	517635	China				0.18	93,174
ORT-DE22-266	JD01B02	dressing cotton bandage 6 inch	pcs	731328	China				0.28	204,771
ORT-DE22-267	JD01B02	dressing cotton bandage 8 inch	pcs	494040	China				0.38	187,735
ORT-DE22-268	JD04C18	Trangular bandage	pcs	126813	China				0.20	25,362
ORT-DE22-273	JD01B01	high compression bandage 2 inch width	pcs	151078	China				0.25	37,769
ORT-DE22-274	JD01B01	high compression bandage 3 inch width	pcs	169683	China				0.30	50,904

ORT-DE22-275	JD01B01	high compression bandage 4 inch width	pcs	245278	China				0.40	98,111
ORT-DE22-276	JD01B01	high compression bandage 6 inch width	pcs	241827	China				0.60	145,096
ORT-DE22-277	JD01B01	high compression bandage 8 inch width	pcs	195353	China				0.90	175,817
ORT-DE22-278	JD01B18	skin traction kit adult	pcs	45322	China				2.30	104,240
ORT-DE22-279	JD01B18	skin traction kit child	pcs	37536	China				2.10	78,825

Total price : 1,246,332 \$ One million two hundred and forty-nine thousand three hundred and thirty-two dollars .

No	National code	ITEM DESCRIPTION	UOM	QTY.	Unite Price	Total
		Splint- Finger Made of aluminium and protective Foam strip, it can be cut with any heavy scissors:				
1	ORT-DE22-257	Splint- Finger Aluminium and protective Foam strip, 1 cm x 23 cm	pcs	6529	\$6.50	\$42,438.50
2	ORT-DE22-258	Splint- Finger Aluminium and protective Foam strip, 1 cm x 46 cm	pcs	5919	\$6.50	\$38,473.50
3	ORT-DE22-259	Splint- Finger Aluminium and protective Foam strip, 2 cm x 46 cm	pcs	5682	\$6.50	\$36,933.00
4	ORT-DE22-260	Splint- Finger Aluminium and protective Foam strip, 2.5 cm x 46 cm	pcs	5537	\$6.50	\$35,990.50
5	ORT-DE22-261	Splint- Finger Aluminium and protective Foam strip, 5 cm x 46 cm	pcs	5127	\$6.50	\$33,325.50
6	ORT-DE22-262	Splint- Finger Aluminium and protective Foam strip, 8 cm x 46 cm	pcs	4642	\$6.50	\$30,173.00
7	ORT-DE22-263	Splint- Finger Aluminium and protective Foam strip, 10 cm x 46 cm	pcs	4717	\$6.50	\$30,660.50

Bandages						
8	ORT-DE22-264	dressing cotton bandage 2 inch width (minimal or no compression)	pcs	122444	\$0.45	\$55,099.80
9	ORT-DE22-265	dressing cotton bandage 4 inch	pcs	517635	\$0.50	\$258,817.50
10	ORT-DE22-266	dressing cotton bandage 6 inch	pcs	731328	\$0.70	\$511,929.60
11	ORT-DE22-267	dressing cotton bandage 8 inch	pcs	494040	\$0.70	\$345,828.00
12	ORT-DE22-268	Trangular bandage	pcs	126813	\$1.44	\$182,610.72
13	ORT-DE22-273	high compression bandage 2 inch width	pcs	151078	\$0.75	\$113,308.50
14	ORT-DE22-274	high compression bandage 3 inch width	pcs	169683	\$1.15	\$195,135.45
15	ORT-DE22-275	high compression bandage 4 inch width	pcs	245278	\$1.40	\$343,389.20
16	ORT-DE22-276	high compression bandage 6 inch width	pcs	241827	\$2.00	\$483,654.00
17	ORT-DE22-277	high compression bandage 8 inch width	pcs	195353	\$2.00	\$390,706.00
Skin traction set						
18	ORT-DE22-278	skin traction kit adult	pcs	45322	\$7.00	\$317,254.00
19	ORT-DE22-279	skin traction kit child	pcs	37536	\$5.00	\$187,680.00
المجموع النهائي : فقط ثلاثة ملايين و ستمائة و ثلاثة و ثلاثون الف و اربعمائة و سبعة دولار و سبعة و عشرون سنت لا غير						\$3,633,407.27